04-24-14  OAKL.AND, CA

DISC ONE
AMOEBA RECORDS, SAN FRANCISCO 4/24 IN-STORE:
T NOBHER DAY 8:
6:28

HROUGH 8&:
04 COLORADO BLUEBIRD SKY 916
FOX THEATER, OAKLAND, SET ONE:
05 JUST ONE STORY> 1150
06 CAN‘T STOP NOW 5:45
07 LITTLE HANDS> 15:18
08 STRUGGLING ANGEL 8:09

DISC TVO

01 PYGMY PONY é:

02 LET'S GO OUTSIDE 7:28

03 SING A NEW SONG> 7:30

04 DON'T LEAVE TRAVIS HERE ALONE> 7.17
g)ETC_IA“I)Ig WAIT ANOTHER DAY 8:07

06 WATER> 20:45
07 PIECE OF MINE 7:00
08 BUMPIN’ REEL 10:34

DISC THRER
01 I'M STILL HERE 7:07

02 UNDER AFRICAN SKIES> 8:02
03 VELD JAM> 3.

04 BIG SHOES> 1418

gﬁ | KNSW YOU RIDER 16:14

COR
06 LOOK AT WHERE WE ARE 6226
07 ON THE ROAD 5:58

04:24-14| OAKIL.AND, CA

DISC ONE

AMOEBA RECORDS, SAN FRANCISCO 4/24 IN-STORE:
01 CAN'T WAIT ANOTHER DAY 8:09
02 SONG IN MY HEAD 6:28

03 STAY THROUGH 817

04 COLORADO BLUEBIRD SKY 916
FOX THEATER, OAKLAND SET ONE:
05 JUST ONE STORV> 1

06 CAN‘T STOP NOW 545

07 LITTLE HANDS> 1.

08 STRUGGLING ANGEL 809

DISC IT"WO

01 PYGMY PONY 624

02 LET’S GO OUTSIDE 7,28

03 SING A NEW SONG> 7:

04 DON'T LEAVE TRAUIS HERE ALONE> 717
05 C_IAuI)Ic')I' WAIT ANOTHER DAY 8:07

SET

06 WATER> 20:45

07 PIECE OF MINE 7:00
08 BUMPIN' REEL 10:34

DISC REE
01 I'MSTILL

HERE 7:0:
02 UNDER AFRICAN SKIES> 8:02
03 VELD JAM> 332
04 BIG SHOES> 1.
05 | KNOW VOU RIDER 16:14

ENCORE
06 LOOK AT WHERE WE ARE 6226
07 ON THE ROAD

software issues. If you print these labels on PLAIN PAPER, you will need to trim the extra bleed area away or they will not fit. Additionally, you should print these with Adobe Acrobat 7 (older versions may not produce the
for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!

results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size
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